

FIXED POINT RESULTS IN B-METRIC SPACE

ZORAN D. MITROVIĆ

Nonlinear Analysis Research Group
Ton Duc Thang University
Ho Chi Minh City, Vietnam

and
Faculty of Mathematics and Statistics
Ton Duc Thang University
Ho Chi Minh City, Vietnam
E-mail: zoran.mitrovic@tdtu.edu.vn

Abstract. We give another proof of Czerwik's fixed point theorem in the setting of b-metric spaces, improving a recent version of this theorem in b-metric spaces obtained in [M. Jovanović, Z. Kadelburg, S. Radenović, Common fixed point results in metric-type spaces, *Fixed Point Theory Appl.*, (2010)]. An analogue of Reich contraction principle and Kannan's fixed point theorem is proved in this space. Our results generalize many known results in fixed point theory.

Key Words and Phrases: Fixed points, b-metric space.

2010 Mathematics Subject Classification: 47H10, 54H25.

1. INTRODUCTION AND PRELIMINARIES

In the papers of Bakhtin [2] and Czerwik [7, 8], the notion of b-metric space has been introduced and some fixed point theorems for single-valued and multi-valued mappings in b-metric spaces proved. Successively, this notion has been reintroduced by Khamsi [13] and Khamsi and Hussain [14], with the name of metric-type space. Several results have appeared in metric-type spaces, we refer to [1, 3, 4, 5, 6, 7, 8, 9, 10, 11, 14, 18].

Definition 1.1. Let X be a nonempty set and let $b \geq 1$ be a given real number. A function $d : X \times X \rightarrow [0, \infty)$ is said to be a b-metric if and only if for all $x, y, z \in X$ the following conditions are satisfied:

- (1) $d(x, y) = 0$ if and only if $x = y$;
- (2) $d(x, y) = d(y, x)$;
- (3) $d(x, z) \leq b[d(x, y) + d(y, z)]$.

A triplet (X, d, b) , is called a b-metric space.

Note that a metric space is included in the class of b-metric spaces. In fact, the notions of convergent sequence, Cauchy sequence and complete space are defined as in metric spaces. Some examples of b-metric spaces can be seen in [1, 3, 4, 7, 8].

In the paper [10] (Theorem 3.3) M. Jovanović, Z. Kadelburg and S. Radenović obtain the following theorem (analogue of Banach contraction principle in b-metric space).

Theorem 1.1. *Let (X, d, b) be a complete b-metric space and $T : X \rightarrow X$ be a mapping satisfying:*

$$d(Tx, Ty) \leq \lambda d(x, y) \quad (1.1)$$

for all $x, y \in X$, where $0 < \lambda < \frac{1}{b}$. Then T has a unique fixed point x^* , and for every $x_0 \in X$, the sequence $\{T^n x_0\}$ converges to x^* .

In this paper, we prove that in Theorem 1.1 the condition $0 < \lambda < \frac{1}{b}$ can be relaxed to the following one $0 < \lambda < 1$. Also, we obtain versions of the Kannan and Reich contraction principle in b-metric space and improve some results from the literature.

2. RESULTS

The next theorem is known, see for example Theorem 12.2 in Kirk and Shahzad [16]. We give another proof here.

Theorem 2.1. *Let (X, d, b) be a complete b-metric space and $T : X \rightarrow X$ be a mapping satisfying:*

$$d(Tx, Ty) \leq \lambda d(x, y) \quad (2.1)$$

for all $x, y \in X$, where $0 < \lambda < 1$. Then T has a unique fixed point x^* , and for every $x_0 \in X$, the sequence $\{T^n x_0\}$ converges to x^* .

Proof. Let $\lambda \in (0, 1)$. Since $\lim_{n \rightarrow \infty} \lambda^n = 0$, there exists a natural number n_0 such that

$$0 < \lambda^k \cdot b^2 < 1, \quad (2.2)$$

for all $k \geq n_0$.

Let $x_0 \in X$ be arbitrary. Define the sequence $\{x_n\}$ by $x_{n+1} = Tx_n$ for all $n \geq 0$. Then (2.1) implies that

$$d(x_{n+n_0}, x_n) \leq \lambda^n d(x_{n_0}, x_0), \quad (2.3)$$

and

$$d(x_{m+n_0}, x_{n+n_0}) \leq \lambda^{n_0} d(x_m, x_n), \quad (2.4)$$

Applying the triangle-type inequality (3) to triples (x_m, x_{m+n_0}, x_n) we have

$$d(x_m, x_n) \leq b(d(x_m, x_{m+n_0}) + d(x_{m+n_0}, x_n)), \quad (2.5)$$

and applying the triangle-type inequality (3) to triples $(x_{m+n_0}, x_{n+n_0}, x_n)$ we obtain

$$d(x_m, x_n) \leq b[d(x_m, x_{m+n_0}) + b(d(x_{m+n_0}, x_{n+n_0}) + d(x_{n+n_0}, x_n))]. \quad (2.6)$$

From (2.6), together with (2.3) and (2.4), we obtain

$$d(x_m, x_n) \leq b[\lambda^m d(x_0, x_{n_0}) + b(\lambda^{n_0} d(x_m, x_n) + \lambda^n d(x_{n_0}, x_0))]. \quad (2.7)$$

So,

$$(1 - \lambda^{n_0} b^2) d(x_m, x_n) \leq b d(x_0, x_{n_0}) [\lambda^m + b \lambda^n].$$

Now (2.2) implies that

$$d(x_m, x_n) \leq \frac{b d(x_0, x_{n_0}) [\lambda^m + b \lambda^n]}{1 - \lambda^{n_0} b^2}. \quad (2.8)$$

Thus $\{x_n\}$ is a Cauchy sequence in X . By completeness of (X, d, b) there exists $x^* \in X$ such that

$$\lim_{n \rightarrow \infty} x_n = x^*. \tag{2.9}$$

Now we obtain that x^* is the unique fixed point of T . Namely, for any $n \in \mathbb{N}$ we have

$$\begin{aligned} d(x^*, Tx^*) &\leq b[d(x^*, x_{n+1}) + d(x_{n+1}, Tx^*)] \\ &= b[d(x^*, x_{n+1}) + d(Tx_n, Tx^*)] \\ &\leq b[d(x^*, x_{n+1}) + \lambda d(x_n, x^*)]. \end{aligned}$$

Since, $\lim_{n \rightarrow \infty} d(x^*, x_n) = 0$ and $\lim_{n \rightarrow \infty} d(x^*, x_{n+1}) = 0$, we have $d(x^*, Tx^*) = 0$ i. e., $Tx^* = x^*$.

For uniqueness, let y^* be another fixed point of T . Then it follows from (2.1) that $d(x^*, y^*) = d(Tx^*, Ty^*) \leq \lambda d(x^*, y^*) < d(x^*, y^*)$, is a contradiction. Therefore, we must have $d(x^*, y^*) = 0$, i.e., $x^* = y^*$. \square

Example 2.1. Let $X = \mathbb{R}$, $d(x, y) = (x - y)^2$ for all $x, y \in X$ and $T : X \rightarrow X$ be defined by $Tx = \sqrt{\frac{2}{3}}x$. Then $(X, d, 2)$ is a complete b-metric space. Theorem 2.1 is applicable taking $\lambda = \frac{2}{3}$. On the other hand, Theorem 1.1 is not applicable since condition $0 < \lambda < \frac{1}{b}$ implies $\lambda < \frac{1}{2}$.

In the b-metric space X , let $B[x, r]$ denote the closed ball with centre x and radius r .

Corollary 2.1. *Let (X, d, b) be a complete b-metric space, $x_0 \in X$ and $T : B[x_0, r] \rightarrow X$ be a mapping satisfying:*

$$d(Tx, Ty) \leq \lambda d(x, y) \tag{2.10}$$

for all $x, y \in B[x_0, r]$, where $0 < \lambda < \frac{1}{b}$ and $r = \frac{b}{1-\lambda b}d(x_0, Tx_0)$. Then T has a unique fixed point $x^* \in B[x_0, r]$ and the sequence $T^n x_0$ converges to x^* .

Proof. We show that $T : B[x_0, r] \rightarrow B[x_0, r]$. Let $x \in B[x_0, r]$. Then

$$\begin{aligned} d(Tx, x_0) &\leq b[d(Tx, Tx_0) + d(Tx_0, x_0)] \\ &\leq b[\lambda d(x, x_0) + d(Tx_0, x_0)] \\ &\leq b \left[\frac{\lambda b}{1 - \lambda b} d(x_0, Tx_0) + d(Tx_0, x_0) \right] \\ &= \frac{b}{1 - \lambda b} d(x_0, Tx_0) = r. \end{aligned}$$

By Theorem 2.1, the result follows. \square

Corollary 2.2. *If (X, d, b) is a complete b-metric space and $T : X \rightarrow X$ is a contraction mapping, then T has a unique fixed point x^* , and for any $x_0 \in X$ the sequence $T^n x_0$ converges to x^* . In fact,*

$$d(x^*, T^n x_0) \leq \frac{b^3 \lambda^n}{1 - \lambda^p b^2} d(x_0, T^p x_0), \tag{2.11}$$

where $p \in \mathbb{N}$ such that $0 < \lambda^p \cdot b^2 < 1$.

Proof. We have

$$d(x^*, T^n x_0) \leq b[d(x^*, x_m) + d(x_m, T^n x_0)],$$

now from inequality (2.8) we obtain

$$d(x^*, T^n x_0) \leq b \left[d(x^*, x_m) + \frac{bd(x_0, T^p x_0) [\lambda^m + b\lambda^n]}{1 - \lambda^p b^2} \right] \quad (2.12)$$

Let m tend to infinity in the inequality (2.12), then from Theorem 2.1 we obtain the proof. \square

Remark 2.1. Obviously Theorem 2.1 is a generalization of the results from [10] (Theorem 3.3) and [15] (Theorem 1).

The following result is a version of Kannan's fixed point theorem (see [12]) in b-metric spaces.

Theorem 2.2. *Let (X, d, b) be a complete b-metric space and $T : X \rightarrow X$ be a mapping satisfying:*

$$d(Tx, Ty) \leq \lambda[d(x, Tx) + d(y, Ty)] \quad (2.13)$$

for all $x, y \in X$, where $0 < \lambda < \frac{1}{2}$. Then T has a unique fixed point x^* and for any $x_0 \in X$ the sequence $T^n x_0$ converges to x^* if any of the following conditions are satisfied

- (i) T is continuous at a point $x^* \in X$,
- (ii) $\lambda b < 1$,
- (iii) $b < 2$.

Proof. Let $x_0 \in X$ be arbitrary. Define the sequence $\{x_n\}$ by $x_{n+1} = Tx_n$ for all $n \geq 0$. Then (2.13) implies that

$$d(x_{n+1}, x_n) \leq \lambda[d(x_n, x_{n+1}) + d(x_{n-1}, x_n)]. \quad (2.14)$$

From (2.14) we have

$$d(x_{n+1}, x_n) \leq \frac{\lambda}{1 - \lambda} d(x_{n-1}, x_n). \quad (2.15)$$

Now by the induction we show that for each $n \geq 1$

$$d(x_{n+1}, x_n) \leq \left(\frac{\lambda}{1 - \lambda} \right)^n d(x_1, x_0). \quad (2.16)$$

Applying the condition (2.13) to a pair (x_m, x_n) , we obtain

$$d(x_m, x_n) \leq \lambda[d(x_{m-1}, x_m) + d(x_{n-1}, x_n)], \quad (2.17)$$

From (2.17), together with (2.16), we obtain

$$d(x_m, x_n) \leq \lambda d(x_1, x_0) \left[\left(\frac{\lambda}{1 - \lambda} \right)^{m-1} + \left(\frac{\lambda}{1 - \lambda} \right)^{n-1} \right]. \quad (2.18)$$

Thus $\{x_n\}$ is a Cauchy sequence in X . By completeness of (X, d, b) there exists $x^* \in X$ such that

$$\lim_{n \rightarrow \infty} x_n = x^*. \quad (2.19)$$

Now we obtain that x^* is a unique fixed point of T . Namely, for any $n \in \mathbb{N}$ we have

$$d(x^*, Tx^*) \leq b[d(x^*, x_{n+1}) + d(Tx_n, Tx^*)]. \tag{2.20}$$

(i) Suppose that T is a continuous map at a point $x^* \in X$.

Since $\lim_{n \rightarrow \infty} d(x^*, x_{n+1}) = 0$ and T is a continuous at a point x^* we have

$$\lim_{n \rightarrow \infty} d(Tx_n, Tx^*) = d(Tx^*, Tx^*) = 0$$

and from (2.20) we obtain $d(x^*, Tx^*) = 0$ i. e., $Tx^* = x^*$.

(ii) Let $\lambda b < 1$,

$$\begin{aligned} d(x^*, Tx^*) &\leq b[d(x^*, x_{n+1}) + d(x_{n+1}, Tx^*)] \\ &= b[d(x^*, x_{n+1}) + d(Tx_n, Tx^*)] \\ &\leq b[d(x^*, x_{n+1}) + \lambda(d(x_n, Tx_n) + d(x^*, Tx^*))] \\ &= bd(x^*, x_{n+1}) + b\lambda d(x_n, x_{n+1}) + b\lambda d(x^*, Tx^*). \end{aligned}$$

So, we have

$$(1 - b\lambda)d(x^*, Tx^*) \leq bd(x^*, x_{n+1}) + b\lambda d(x_n, x_{n+1}). \tag{2.21}$$

Since $\lim_{n \rightarrow \infty} d(x^*, x_{n+1}) = 0$, $\lim_{n \rightarrow \infty} d(x_n, x_{n+1}) = 0$ and $0 < b\lambda < 1$ we have $Tx^* = x^*$.

(iii) Clearly (iii) implies (ii).

For uniqueness, let y^* be another fixed point of T . Then it follows from (2.13) that

$$d(x^*, y^*) = d(Tx^*, Ty^*) \leq \lambda[d(x^*, Tx^*) + d(y^*, Ty^*)] = 0.$$

Therefore, we must have $d(x^*, y^*) = 0$, i.e., $x^* = y^*$. □

Reich [19], for mappings $T : X \rightarrow X$, generalized the fixed point theorems by Banach and Kannan, using contractive condition:

$$d(Tx, Ty) \leq \alpha d(x, y) + \beta d(x, Tx) + \gamma d(y, Ty), \tag{2.22}$$

for all $x, y \in X$, where α, γ are nonnegative constants with $\alpha + \beta + \gamma < 1$. An example in [19] shows that the condition (2.22) is a proper generalization of (2.10) and (2.13).

The next is a fixed point theorem of Reich type in b-metric spaces.

Theorem 2.3. *Let (X, d, b) be a complete b-metric space and $T : X \rightarrow X$ be a mapping satisfying:*

$$d(Tx, Ty) \leq \alpha d(x, y) + \beta d(x, Tx) + \gamma d(y, Ty) \tag{2.23}$$

for all $x, y \in X$, where α, β, γ are nonnegative constants with $\alpha + \beta + \gamma < 1$. Then T has a unique fixed point x^* and for any $x_0 \in X$ the sequence $T^n x_0$ converges to x^* if satisfies any one of the following conditions

- (i) T is continuous at a point $x^* \in X$,
- (ii) $b\beta < 1$,
- (iii) $b\gamma < 1$.

Proof. Let $x_0 \in X$ be arbitrary. Define the sequence $\{x_n\}$ by $x_{n+1} = Tx_n$ for all $n \geq 0$. From condition (2.23) we have that

$$d(x_{n+1}, x_n) \leq \alpha d(x_n, x_{n-1}) + \beta d(x_n, x_{n+1}) + \gamma d(x_{n-1}, x_n). \quad (2.24)$$

Therefore,

$$d(x_{n+1}, x_n) \leq \frac{\alpha + \gamma}{1 - \beta} d(x_n, x_{n-1}). \quad (2.25)$$

Put $\lambda = \frac{\alpha + \gamma}{1 - \beta}$. We have that $\lambda \in [0, 1)$. It follows from (2.25) that

$$d(x_{n+1}, x_n) \leq \lambda^n d(x_1, x_0) \text{ for all } n \geq 1. \quad (2.26)$$

From condition (2.23) we have

$$d(x_{n+p}, x_n) \leq \alpha d(x_{n+p-1}, x_{n-1}) + \beta d(x_{n+p-1}, x_{n+p}) + \gamma d(x_{n-1}, x_n). \quad (2.27)$$

From (2.26) and (2.27) we obtain

$$d(x_{n+p}, x_n) \leq \alpha d(x_{n+p-1}, x_{n-1}) + d(x_0, x_1) [\beta \lambda^{n+p-1} + \gamma \lambda^{n-1}]. \quad (2.28)$$

Let $r = \max\{\alpha, \lambda\}$. Then from (2.28) follows

$$d(x_{n+p}, x_n) \leq r d(x_{n+p-1}, x_{n-1}) + r^{n-1} d(x_0, x_1) [\beta r^p + \gamma]. \quad (2.29)$$

Applying the method of mathematical induction on inequality (2.29) we obtain

$$d(x_{n+p+k}, x_{n+k}) \leq r^k d(x_{n+p}, x_n) + k r^{n-1} d(x_0, x_1) [\beta r^p + \gamma]. \quad (2.30)$$

Let n_0 be a natural number such that

$$0 < r^{n_0} \cdot b^2 < 1. \quad (2.31)$$

Applying the triangle-type inequality (3) we obtain

$$d(x_{n+p}, x_n) \leq b [d(x_{n+p}, x_{n+p+n_0}) + b (d(x_{n+p+n_0}, x_{n+n_0}) + d(x_{n+n_0}, x_n))]. \quad (2.32)$$

So, together with (2.25) and (2.30) we obtain

$$d(x_{n+p}, x_n) \leq b r^n (r^p + b) d(x_0, x_{n_0}) + b^2 [r^{n_0} d(x_{n+p}, x_n) + n_0 r^{n-1} d(x_0, x_1) (\beta r^p + \gamma)]$$

Now (2.31) implies that

$$d(x_{n+p}, x_n) \leq \frac{b r^n (r^p + b) d(x_0, x_{n_0}) + b^2 n_0 r^{n-1} (\beta r^p + \gamma) d(x_0, x_1)}{1 - b^2 r^{n_0}} \quad (2.33)$$

Thus $\{x_n\}$ is a Cauchy sequence in X . By completeness of (X, d, b) there exists $x^* \in X$ such that

$$\lim_{n \rightarrow \infty} x_n = x^*. \quad (2.34)$$

Now we obtain that x^* is the unique fixed point of T .

For any $n \in \mathbb{N}$ we have

$$d(x^*, Tx^*) \leq b [d(x^*, x_{n+1}) + d(Tx_n, Tx^*)]. \quad (2.35)$$

(i) Suppose that T is a continuous map at a point $x^* \in X$.

Since, $\lim_{n \rightarrow \infty} d(x^*, x_{n+1}) = 0$ and T is a continuous at a point x^* we have

$$\lim_{n \rightarrow \infty} d(Tx_n, Tx^*) = d(Tx^*, Tx^*) = 0$$

and from (2.35) we obtain $d(x^*, Tx^*) = 0$ i. e., $Tx^* = x^*$.

(ii) Suppose that $\beta b < 1$.

We have

$$\begin{aligned} d(Tx^*, x^*) &\leq b[d(Tx^*, x_{n+1}) + d(x_{n+1}, x^*)] \\ &= b[d(Tx^*, Tx_n) + d(x_{n+1}, x^*)] \\ &\leq b[\alpha d(x^*, x_n) + \beta d(x^*, Tx^*) + \gamma d(x_n, x_{n+1}) + d(x_{n+1}, x^*)]. \end{aligned}$$

Since $b\beta < 1$, we have $Tx^* = x^*$.

(iii) Suppose that $b\gamma < 1$.

Then we have,

$$\begin{aligned} d(x^*, Tx^*) &\leq b[d(x^*, x_{n+1}) + d(x_{n+1}, Tx^*)] \\ &= b[d(x^*, x_{n+1}) + d(Tx_n, Tx^*)] \\ &\leq b[d(x^*, x_{n+1}) + \alpha d(x_n, x^*) + \beta d(x_n, x_{n+1}) + \gamma d(x^*, Tx^*)]. \end{aligned}$$

Since $b\gamma < 1$, we obtain $Tx^* = x^*$.

For uniqueness, let y^* be another fixed point of T . Then it follows from (2.23) that

$$\begin{aligned} d(x^*, y^*) &= d(Tx^*, Ty^*) \leq \alpha d(x^*, y^*) + \beta d(x^*, Tx^*) + \gamma d(y^*, Ty^*) \\ &= \alpha d(x^*, y^*) < d(x^*, y^*) \end{aligned}$$

is a contradiction. Therefore, we must have $d(x^*, y^*) = 0$, i.e., $x^* = y^*$. □

Example 2.2. Let $X = [0, 2]$, $d(x, y) = (x - y)^2$ for all $x, y \in X$ and $T : X \rightarrow X$ be defined by

$$Tx = \begin{cases} \frac{x}{2} & x \in [0, 1], \\ \frac{x}{3} & x \in (1, 2]. \end{cases}$$

Then

- (1) $(X, d, 2)$ is a complete b-metric space.
- (2) There exist $\alpha, \beta, \gamma \geq 0$, ($\alpha = \beta = \gamma = \frac{2}{7}$) such that T satisfies the contraction condition (2.23) in Theorem 2.3 and 0 is unique fixed point of T .

Remark 2.2. Theorem 2.3 is an improvement of the results from [17] (Theorem 3.2) and [18] (Theorem 4).

Acknowledgement. The author is grateful to the anonymous reviewer at careful check of details and useful comments who have improved this work. The author is also grateful to Professor Stojan Radenović for his help.

REFERENCES

- [1] H. Aydi, M.F. Bota, E. Karapinar, S. Mitrović, *A fixed point theorem for set-valued quasi-contractions in b-metric spaces*, Fixed Point Theory Appl., (2012), 2012:88.
- [2] I.A. Bakhtin, *The contraction mapping principle in quasimetric spaces*, Funct. Anal., Ulianowsk Gos. Ped. Inst., **30**(1989), 26-37.
- [3] V. Berinde, *Generalized contractions in quasimetric spaces*, Seminar on Fixed Point Theory, (1993), 3-9.
- [4] M. Bota, A. Molnár, C. Varga, *On Ekeland's variational principle in b-metric spaces*, Fixed Point Theory, **12**(2011), 21-28.

- [5] M. Cicchese, *Questioni di completezza e contrazioni in spazi metrici generalizzati*, Boll. Un. Mat. Ital., **5**(1976), 175-179.
- [6] M. Cosentino, P. Salimi, P. Vetro, *Fixed point results on metric-type spaces*, Acta Math. Sci. Ser. B Engl. Ed., **34**(2014), no. 4, 1237-1253.
- [7] S. Czerwik, *Contraction mappings in b-metric spaces*, Acta Math. Inform. Univ. Ostrava, **1**(1993), 5-11.
- [8] S. Czerwik, *Nonlinear setvalued contraction mappings in b-metric spaces*, Atti Sem. Mat. Univ. Modena, **46**(1998), 263-276.
- [9] M.B. Jleli, B. Samet, C. Vetro, F. Vetro, *Fixed points for multivalued mappings in b-metric spaces*, Abstr. Appl. Anal., (2015), Art. ID 718074, 7 pages.
- [10] M. Jovanović, Z. Kadelburg, S. Radenović, *Common fixed point results in metric-type spaces*, Fixed Point Theory Appl., (2010), Art. ID 978121, 15 pages.
- [11] Z. Kadelburg, S. Radenović, *Pata-type common fixed point results in b-metric and b-rectangular metric spaces*, J. Nonlinear Sci. Appl., **8**(2015), 944-954.
- [12] R. Kannan, *Some results on fixed points*, Bull. Calcutta Math. Soc., **60**(1968), 71-76.
- [13] M.A. Khamsi, *Remarks on cone metric spaces and fixed point theorems of contractive mappings*, Fixed Point Theory Appl., (2010), Art. ID 315398, 7 pages.
- [14] M.A. Khamsi, N. Hussain, *KKM mappings in metric type spaces*, Nonlinear Anal., **73**(2010), 3123-3129.
- [15] M. Kir, H. Kizitune, *On some well known fixed point theorems in b-metric spaces*, Turk. J. Anal. Numb. Theory, **1**(2013), 13-16.
- [16] W. Kirk, N. Shahzad, *Fixed Point Theory in Distance Spaces*, Springer, Berlin, 2014, pp. 113-131.
- [17] P.K. Mishra, S. Sachdeva, S.K. Banerjee, *Some fixed point theorems in b-metric space*, Turk. J. Anal. Numb. Theory, **2**(2014), 19-22.
- [18] S.K. Mohanta, *Some fixed point theorems using wt-distance in b-metric spaces*, Fasc. Math., **54**(2015), 125-140.
- [19] S. Reich, *Some remarks concerning contraction mappings*, Canad. Math. Bull., **14**(1971), 121-124.

Received: January 4, 2017; Accepted: April 27, 2018.